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1.  In the example, the action-reaction pair is shown by the arrows (vectors), and          

    the action-reaction described in words:

Action Force:  Fist hits the wall.
Reaction force:  Wall hits the fist.
For the remaining situations, in words state the "reaction force" to the given "action force".
Label the action force vector. Draw and label the direction of the "reaction" force vector.
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Windshield hits bug.







Reaction force:  __________________________
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Bat hits ball.
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Reaction force:  __________________________ 
Reaction force:  __________________________
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Hand pulls on flower.
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Reaction force:_________________ Reaction force:_________________ Reaction force:_________________
                          _________________                            _________________                           _________________
2. Draw vectors to show the chain of at least six pairs of action-reaction forces shown in the diagram given below:
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3. What is the net force on a pumpkin that is thrown forward with a force of 50N and air resistance pushes back with 3N?
Draw FBD and solve. 
4. What is the net force on a bag of candy if Josh is pulling on it with 35N of force but Emily is pulling back with a force of 20 N? Then Danielle comes to help Emily with a force of 10N, now what is the net force on the candy?
5. Calculate the acceleration of a 60kg zombie if you push it with a 20 N force it is holding on to you with 7N of force.

6. 3000N accelerates a 1500kg magic carpet.  If wind pushes back with 1000N, what is the acceleration of the carpet?
Non-Routine Problem:

7. You push down on the 12 kg jack o lantern with force of 40.0 N. Determine the normal force acting on the jack o lantern. Hint, draw a FBD
3) 47N

4)15N, 5N 
5).21 m/s2
6) 1.3 m/s2
7) 157.6 N, Upwards
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